(C) To Make a Long Story Short (1/3) [Solution]

C1. Note that (d) and (e) can be swapped, and that (f) and (g) can be swapped.
a. italicized word

b. 10

c. number

d. adjective

e. common noun

f. first

g. last

Sticky Situation — unscrambled:

Sentence Features Sum of

Scores
F1 F2 F3 F4 F5 F6

SS1 0 4 0 1 1 1 7

SS2 0 2 0 2 2 0 6

SS3 1 2 0 2 1 0 6

h. SS4 0 1 0 1 2 0 4

i. SS5 0 0 -1 0 0 0 -1

k. SS6 0 0 -2 0 2 0 0

j. SS7 1 1 0 0 2 1 5

Sticky Situation — scrambled:

Sentence Features Sum of

Scores
F1 F2 F3 F4 F5 F6

h. Ss4 0 1 0 1 2 0 4

SS1 0 4 0 1 1 1 7

i. SS5 0 0 -1 0 0 0 -1

SS3 1 2 0 2 1 0 6

j- SS7 1 1 0 0 2 1 5

k. SS6 0 0 -2 0 2 0 0

SS2 0 2 0 2 2 0 6




(C) To Make a Long Story Short (2/3) [Solution]

C1. (continued) Filling in the blanks:

C2.

h. SS4
i. SS5
j- SS7
k. SS6
Sentence Features Sum of
Scores
F1 F2 F3 F4 (num) [ F5 F6 (first /
(italics) (proper (sentence (shared N | last)
nouns) length - + ADJ)
10)
(a=HWS5) (0 2 (b=0) 1 4 0 6
HW4 (c=0) 0 0 1 2 (d=0) (e=3)
(f=HW3) (0 0 (g=-1) (h=1) 1 0 1
HW6 1 (i=1) 0 0 1 1 (j=4)
(k=HW1) (1 2 0 0 3 (1=1) (m=7)
(n=HW2) (1 1 0 (0=1) 4 0 (p=7)
Sentence Features Sum of
Scores
F1 F2 F3 F4 F5 F6
(q=SSC5) [ O 0 0 1 0 1 2
(r=SSC3) (O 1 0 0 0 0 1
(s=SsC2) (O 0 -1 0 0 0 -1
(t=SSC1) (O 1 0 0 0 1 2
(u=ssc4) [0 1 0 1 0 0 2




(C) To Make a Long Story Short (3/3) [Solution]

C3.
HW1, HW2, HW5

ca.
SSC1, SSC4, SSC5

C5.

a. Vice

b. Made to Stick, Bigger Bubble

c. February should be replaced with January
ce.

SSC4. “He” (in the summary, it refers to Ronald McBubble, when in the original text it referred to Chicle
“Colonel” Sanders)




